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QUESTION 1

The capabilities of cellular networks have improved greatly since their original development for analog voice phone
calls. Most recently, fourth-generation (4G) wireless supports a variety of data-intensive needs.

A benefit of 4G networks is that they:

A. Use spread-spectrum technology to ensure high transmission rates.

B. Provide fast transmission rates equivalent to DSL or broadband-cable.

C. Provide fast transmission rates equivalent to high-speed dial-up connections.

D. Enable bandwidth throttling, allowing the user access to unrestricted download speeds.

Correct Answer: B

QUESTION 2

Which term describes the practice of actively collecting wireless networking data from companies and individuals?
A. War driving

B. Spear phishing

C. Dictionary attack

D. Social engineering

Correct Answer: A

QUESTION 3

You have just been hired by a large company, and the IT manager is giving you an overview of the corporate network.
He tells you that the corporation is spread out over several cities, and various departments are divided into subnetworks
that are connected using routers. What type of network are you being shown?

A. Local area network (LAN)

B. Wide area network (WAN)

C. Virtual private network (VPN)

D. Internet Exchange Point (IPX)

Correct Answer: B

QUESTION 4
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Server-based networks typically contain centralized network resources, which are usually not available on peer-to-peer
(P2P) networks. Which of the following examples describes a server based network?

A. Three network clients connecting to a file server

B. Downloading a file by using BitTorrent technology

C. Sharing one or more files to another computer via the Internet

D. A client connecting to another computer over the Internet to share music

Correct Answer: A

QUESTION 5

You want to enable wireless security on your Android device and your Linux system. Which of the following is a
disadvantage of Wired Equivalent Privacy (WEP)?

A. It enables MAC address filtering.

B. It is easily compromised by hackers.

C. It only supports 56-bit symmetric-key encryption.

D. It is based on the outdated 802.lla wireless standard.

Correct Answer: B

1D0-61C PDF Dumps 1D0-61C Practice Test 1D0-61C Exam Questions

1D0-61C PDF Dumps | 1D0-61C Practice Test | 1D0-61C Exam Questions 3/3


https://www.pass4itsure.com/1d0-61c.html
https://www.pass4itsure.com/1d0-61c.html
https://www.pass4itsure.com/1d0-61c.html
http://www.tcpdf.org
https://www.pass4itsure.com/1d0-61c.html
https://www.pass4itsure.com/1d0-61c.html
https://www.pass4itsure.com/1d0-61c.html

